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Section : Mathematical Abilities

Q.1 TP TYAT ATHS| BT AT = 60 3R HITRDT = 48 81 T ST BT IgAD I BT

Ans X 1.18
X 2.48
X 3.36
& 4. 24

Question ID : 264330121731
Status : Answered
Chosen Option : 4

Q.2 it fur St 3= A9 BT 30% T §1 T I= 399 P U H Ui AIE Rs.42,000 Frerd
2, ) ST HIRYe g T 82

Ans X 1.Rs.29,200
« 2. Rs.29,400
% 3.Rs.29,300
< 4.Rs.29,100

Question ID : 26433066356
Status : Answered
Chosen Option : 2

Q.3 T@&IT 1254216 Frafeafad # @ feg den @ faursa 22

Ans X 1.11
X 2.5

& 3.8
X 4.16

Question ID : 264330126418
Status : Answered
Chosen Option : 3




Q4 TH T9 TgYS & fIBN &) WEH J1d B, R sid:H1on &1 TR 2700° B
Ans X 1.117

X 2.127

o 3.119

X 4.121

Question ID : 264330121663
Status : Answered
Chosen Option : 3

Q.5 =T ATSfHa A 45 km B g8 15 km/h B AT J, FR A 80 km BT gt 40 km/h B T
3R Uee TABR qTHT 6 km BT G 2 km/h BY 1A A 79 I 81 I Am & fg 7t
3N 9Tl FId PR (2 ST VI T

Ans X 1.15.25km/h

 2.16.38 km/h
< 3.43.50 km/h
X 4.18.36 km/h

Question ID : 264330126387
Status : Answered
Chosen Option : 2

Q.6 I AABC, B TR HBIUIE, AB = 12 cm 3R .CAB = 60° §, A BC P aTS JTd PIeg|
A 11242 cm

K 2.12cm

v3 1243 cm
x4 24+/3 cm

Question ID : 264330126426
Status : Answered
Chosen Option : 3

Q.7 cos 120° T AeI® A FId oI
Ans X 1.1

& 2.-05

X 3.0

X 4.05

Question ID : 264330126428
Status : Answered
Chosen Option : 2




Q8 gfr x ik y #1 Aged® TAMISH (HCF) 15 &, ar 36x2 — 81y23R
81x2 — 9y2 T HCF o o= gemi
Ans X 1.180

& 2.135
< 3.90
X 4.120

Question ID : 26433085413
Status : Answered
Chosen Option : 2

Q9 A 3R B fraeR te 1 F1 48 o7 ¥ W HT AHA &1 A, B BT 4 AT TG 81 B AP
Pl B fra fe1 & 1 HR Twar 82

Ans 1 240 T
X 2.220fe7
X 3.120fe7
# 4.320fe7

Question ID : 264330121649
Status : Answered
Chosen Option : 1

Q.10 7fE 4x2 + y2 = 40 3N xy = 6 B, A 2x + y T HF JId B
Ans X 1.4

& 2.8

X 3.6

X 4.5

Question ID : 26433082109
Status : Answered
Chosen Option : 2

Q.11 % §HaTg FAYS PQR T $5@ L 819 PQ = 6 cm, @ PL &t waTS FT872
Ans @ 1.24/3 cm

X2 343 em

X3 543 cm

X4 44/3 cm

Question ID : 264330126439
Status : Answered
Chosen Option : 1




Q.12 3fg 26,500 F AR Jfarifer w0 A T qies T I 10% AT Tl AT WR 2 99 &
fRre IR o o1 31 ], @ Frsre (Faw quife 9) 1d Sifre)

Ans 7 1.%7,900
X 2.%7,650
#< 3.%8,150
7< 4.38,250

Question ID : 264330126382
Status : Answered
Chosen Option : 1

Q.13 TP JUES B &1 JUMTAR YoI13il Ft TETS &b §F BT 3R 12 cm 81 37 g1 JHHIR
yeieit & 9 F} daad g3t 60 cm 1 TS THEAT BT &ABE 1380 cm? B, @ YD JUIAR

YT B FaTS (cm H) F1d PifTI
Ans X 1.31,19
o 2.29,17
& 3.27,15
X 4.2412
Question ID : 264330121753
Status : Answered
Chosen Option : 2
Q.14

& o A, B 3R C Z@RT UF TATHT H g F HT WIAHhAT HAM
2,232 ¥ TAEN & g9 g Y Wiidear F=r ge?
Ans

X1 2%

315

155

X 2, EE

315
v 3. 2
315

. 64

315

Question ID : 264330121654

Not Attempted and
Marked For Review
Chosen Option : --

Status :




Q.15 3fe T I H1 I YEIT &ABd 1261 cm? § 3N TSB! ST 14 cm 8, A 989 BT
3Taa T g2

Ans X1 125i 1 cm?
x2 128% T cm?
&3 283% mcm?

X a 13?& T emd

Question ID : 26433061088
Status : Answered
Chosen Option : 3

Q.16 Tw fRIfirs o1 MuR Te THaTg Y 3, Rrast ude Yo 3t T 8 cm §1 50®1
fad® PR (Slant edge) 24 cm ? | =TT &1 vyl gdia 8awe (cm? #) frar 82

An %1 (12v3 + 244/35)
x 2 (16v3 + 24+/35)
X 3. (2443 + 36V35)
v 4 (16v3 +48V35)

Question ID : 264330121751

Status - Not Attempted and
" Marked For Review

Chosen Option : ==

Q.17 Tfg 80 Hex gu & fareraa # 60% g B, I faeraa # g¥ B 80% 91 & forg fpa=m gy
e g

Ans gz 1.807lc?
< 2. 50 AR
2 3.60 X
X 4. 70 R

Question ID : 26433058959
Status : Answered
Chosen Option : 1

Q.18 A, B3R CA3:4:8F Jurd A Yol A< &Y | AUR Srafu F A H, 37 2:3:5F
ST ® AT WIS g31T1 I FafRra g &1 srqurd T 82

Ans X 1.16:21:18
& 2.16:18:15
X 3.15:16:13
X 4.13:18:15

Question ID : 264330121645
Status : Answered
Chosen Option : 2




Q19 543 fie 52 TF AT T2 T F BER T vE ol @ f9R & faw
FT 3o HIUT 60° AT| Ifg T &1 YR AT F R T 60 Fie
el 9T T, df AAR @ Furg (Bre #H) FAr A2

Ans o 60\[5
X2 36V3
v 844/3
X4 4443

Question ID : 264330122895
Status : Answered
Chosen Option : 3

Q.20 fgfefEd # @ m & 59 w4 § THHI01 AP 18x-72y+13=0 3R 7x-my-17=0 BT HIg
& T8I gRI?
Ans X 1.24
X212
5 3.9

& 4.28

Question ID : 264330121747
Status : Answered
Chosen Option : 4

Q.21 3 7T FHod &1 9 Farstl
3-(-6){-2-9-3}+7{1+(-2) (- 1)}

Ans X 1.15
X 2.7
3.1
X 4.1

Question ID : 264330122831
Status : Answered
Chosen Option : 3

Q.22 fmfafEa siwsl @1 9gas a1 ghm?
13,15,31,12,27,13,27,30,27,28 3R 16
Ans X 1.30
& 2.27
X 3.31

X 4.28

Question ID : 264330126394
Status : Answered
Chosen Option : 2




Q.23 25T, 50 U, Rs.2 3T Rs.5 F Raw! &1 J@A3H BT PH:5:4:3:1¢81 9
gl &) $a ARIRs.285 7, @1 25 WY iR Rs.5F [ 91 Te & St Siaw w1 g

Ans X 1.30
7 2.60
o 3.80
% 4.40

Question ID : 26433061149
Status : Answered
Chosen Option : 3

Q.24 [ gRT IR YRY & UTed 3R¥Id 37 51 §, 3R Uied UuR # 39 56 31 WIed gU & | Wit
T TR # SHPT 7471 3Nd FId P
Ans X 1.50
X 2.51
& 3.52
X 4.49

Question ID : 26433073077
Status : Answered
Chosen Option : 3

Q.25 Bg a9 Ugd, A 3R B B 31g &1 7: 5911 3G { 4 9 qTE, ITHT 3T BT U 11
:93’|Trr|a?fm=rﬁ'Aaﬂarrgm=ﬁ§?

Ans 1
X1.24- 99
2
1
v223- 99
2
1
X3 21=a
2
1
X4 22— a5
2
Question ID : 264330121655
Status : Answered
Chosen Option : 2
Q.26

5 7wt #,Rs. X 1 AR R WUROT S, TEwA = 2§ ;A A
T a3 Fr 32

Ans X 1.10%

o 2.8%

X 3.5%

X 4.12%

Question ID : 264330126377
Status : Answered
Chosen Option : 2




Q.27

Ans

=@ =t oo (go) FifET

10+‘]25+J108+ V154 +/225

V16 + 19.25 X 42

5

W1 e
18
vzz
9
X3 L
- 18
X 4 .
9

Question ID : 264330121706
Status : Answered
Chosen Option : 2

Q.28 T ISHE AR} U= T TR 50% 3P Yoo 3ifpd Hear 8 3R fire 3uF sifed gea
W 20% Bt Fe 3q1 71 §HF TR, 98 TP Grayuf aRIS] ST ITART HaT 2 it 900 gm F

Ans

1T 1 kg feamar 81 39 Y o1y ufawra (Feean quite a@) Far g
< 1.36
& 2.33
X 3.27
X 4.24

Question ID : 26433063209
Status : Answered
Chosen Option : 2

Q.29 5 cm 0T 9@ TS T F iR 99 °f F1 ufewmg 7T 32

Ans

X 1.30V2em
X2 4042 em
&3 Zﬂﬁcm
X410+v2cm

Question ID : 264330121657
Status : Answered
Chosen Option : 3




Q.30 10% 3R 10% N A PRFTE_ uwa ge $ R e
Ans X 1.21%

X 2.18%
 3.19%
X 4.20%

Question ID : 26433056314
Status : Answered
Chosen Option : 3

Section : Reasoning and General Intelligence

U g sl &1 Tww ffew s =@ sl g@er # goa fea
(?) & T 9T 37O

B /il | see
* ?
M ose
Ans
v s
127
x 2
000
00
X 3. .I.
13
ccec
xal| €€

Question ID : 264330100891
Status : Answered
Chosen Option : 1




Q.2 9wy far e §, forrds a1g i fAsed 1, 1 3R 1 3w 1 & | Sy 6 9o 9aa g,
B 3 g U A g1d it A B wedta g 8, 9 3 [ fow e el § B9 A
freerd HU=Y BT aifbe U I SR BT 3P
DY
1.9 B9, duera g1
IIH%EW?;{%%I
111799 999-378T, [
fred

|.mﬁ:ﬁ=r,uﬁ=r%|
I, 9t duety, 49 &1
. waft 99-g18a, dAuery ¥

Ans X 1. %9d FsHY | 3R Il SR IR §
2. Had Y |1 3R BT §
2 3. %9a fae | IR 11l 3R R §
X 4. Fad ey 11 3R 111 SRRV AR &

Question ID : 26433097424
Status : Answered
Chosen Option : 3

Q.3 39 aiferet #, fU T et & forT TRem e guie 1Y &1 TEmsit & 39 A &1 9uq
P o f 31eRY &t degaR afRud $A A T A1dF eg I o FF |

T P C E I N

1 2 3 4 3 6
Ans X 1.246,315

% 2.6,534,12

X 3.3,4,1526

o 4.2,4,6,351

Question ID : 264330121090
Status : Answered
Chosen Option : 1

Q4 THUYH S HYF 1 3R 11 3T 7T B | A $YT WdT SR T Fdo BRI 9T T SHAME
PRI P YHTT Bl TPd 8 | Th DU gAY PYU T TG & Fhdl 81 31 YT B ue 3R
TE IR BT 9G B

1.frse @7 vl 9, I3 M 7 5 B P Ius # A o arafae fRmae o 9 31

mmﬁﬁ,mmﬁwmaﬁﬁe%ﬁq@?%,mWaﬁm
!

Ans X 1.13R |l 3! WdT RO
X 2. | SRUE 3R || 3THT YHIId THTT §
o 3.1 3R 1| S W HRON F YHIT &
X 4.1 BRU T 3R | ST JHIfad TuTa &

Question ID : 264330123145
Status : Answered
Chosen Option : 1




Q.5 e R @ S 2, R a1g @ Freed 1 3R 1 Ry e §1 R 3k @ Freat
WTYED U 3R Wel SR BT 999 He |

fRufa:

frod 15 a6l @, g ¥ A & 789 & ToIR # 75% STg W K A M §1 wTwifp,

K ¥ U & a7 32 A o 3 9uf | 32 1 AR H 5-9% Pt TaR FR1ae 3 d @

I

e

1. AR "e & q1¢ Y, M K & U SRS a9k & G =0 | IR1gH 9N 7@ &

o ata R 81

%?Kﬁﬁg%wﬁwmﬁmwmamm%mmmﬁ
|

Ans X 1. %qd s || FeTen o 9ol §

2. %ad sy | FdTe o Thar &
X 3. B | 3R 11 G el St gebdl &
X 4.7 Ay | FepTer o TedT § 3R T € 11 Fera S ghar @

Question ID : 264330121678
Status : Answered
Chosen Option : 4




Q6 Y TH FTA & TH RS A A F HA A g3 g0
FTS F FIea HT T gorr 7137 3| e 717 [Tt # ¥ a7
Tl g S FES & G T I ¥ HalOF Hereh-Sera @l

’
’
” ]
’
4
”,
’
,l s ~ ’ .
4 ,/ \\ (/ ‘\
, ’ P LN
’ ’ ~ ’ -

Ans

¢

5
o/

A

>
ﬁcﬂ

/e
3

=
g[ﬁo
9 e

X
&

P _d| P
3

Question ID : 264330126305
Status : Answered
Chosen Option : 1




Q7 3mpfd A Te Fifdd Sed ¥ srguR B & wafta 31 St de o1 srgwwu #vd ¢ emgfa
D I WafRa 31 Yo 31 ey 3% 3R I BT BT 791 Y, R D F R IR @1 AT

el

o T |oo ” R
o (o] o =

A B C D
Ans =
v |<1D
Q
L1
X2 |e«to
o

Question ID : 264330121401
Status : Answered
Chosen Option : 2

Q8 '‘A#B BTAYE'A BHTUE T
‘A@B BT A, B TR
'A&B FTAYE'A BHTUR
'A% B B3I §'A, BEI U '
IXD@N@H&Y@F %VE, @MY, DA FT uepR afta 82

Ans 1.9
o 2.7
X 3.9
< 4.9

Question ID : 264330126289
Status : Answered
Chosen Option : 2




Q.9 A Ta Uy 3R ITF g § YT HHS (1) 3R (1) Y 7T &1 U g W HA R H
HY | G 74T STET UY BT IR &7 & G vaie @ a1 1811 SN SYUAT BT g Sifere
3R ITYF SR BT 999 P

uy: 39 Ufea ¥ g fraq safe WS € orad Wt sufdrral 1 g 3w & v 82

PY:

(|)Am§ﬁ?ﬁiﬁﬁw=rw% M, A F 3TE 3R g WM R §; 3R R I R A g
WA R

(1) M 3T¢ BR A Y VM W &; M 3R B F & & had 3 aafed @S 81

Ans o 1. FYT | IR Il G fora T STeT e Uy &1 IR 37 & forg vafw @

X 2. YA || T T TTT STeT Sidhd Uy T IR S I o v § Safe oy | 7 fean mar
STeT U 1 IR & & forg afe 76 R

X 3. oA HYT | H g T STer sfhd a1 U 11 H T T STeT 3 Uy BT SR 3 b
e wafe @

X 4. YA | T o T STeT Sihd Uy T IR & & o vl § wafd wud 11 H fean mar
STeT U3 1 IR & & forg vaf 76 R

Question ID : 264330121197

Status : Answered

Chosen Option : 4

Q.10 7Y g % 39 T HaeH &1 999 33, o fog T I § * gl d RA R
P =T A 7@ TH IR GHISHRT dgfrd g gl
268*4*8*5%14 =41
Ans X 1.x=++-
v2_+—x+
KBex+—

Ka +x-=

Question ID : 26433068108

Status : Answered

Chosen Option : 2

Q.1 YUY H, TP Uy F 9% (1) 3R () A T=Hifed < Hy= fw 7w §1 3wt gg fofa a-r @
b Syl ¥ foum mar T Uy &1 IR 1 & forg yate @ an =g S Byl 31 ufee
3R FEYTYd® 30 IR BT T BT

UH: P,Q,R, S, T, U 3R v, 7 i Uo dfedd & @S § ok Wl Ik oY ik oty &
mﬁﬁ%g@hmﬁ@n%aﬁ&hﬁ@:ﬁwﬁﬂw%

DY
() U SN BR T FI R R W 3R R F 18 3R g WM R ST 8|
) Q, THIF T ESTRI Q, P F T 3T g VM W @SB

Ans X 1. YT | BT ST 3P UY BT IR &7 & 70 TaE ¢ STafcb B 1| BT ST 3idvel U B
IR 3 & e v T ¢ |

< 2. BYF || BT 3T 3B UY BT ITR & & {o1Y YTt § s B | BT ST 31bal Uy
IR & & o vared 8 3

& 3. BYT 1 3R 11 & ST firaans oft w1 IR 39 & forg vl =16t €1
X 4. BT | 3R 11 P ST B Uy &1 IR 4 & forg mafe B

Question ID : 264330121304

Status : Answered

Chosen Option : 4




Q.12 I fapeu &1 TG B St 37 &R} b1 ufaf~ifira owar 8, S Fafefad frea == d
T | 3T 7@ WM W AER-4Ear g g gt
FIR_DF__EDF_T _DFI_E_

Ans X 1.EISIEUE
X 22EGSJEUE
X 3.EHSIEUD
& 4 EISIEUD

Question ID : 264330126279
Status : Answered
Chosen Option : 4

W et & & 37w I T AT, T TeA-RE(?) B AEniE
FT ThaT & 3R BT 1w Yot A W W TR B

Ans

B o B

Question ID : 26433083131
Status : Answered
Chosen Option : 1




Q.14 A, B, C, D, E, F 3R G ¥ & Y% & ufi&l WHAR A IR= g a1d 3R AR &) e
B T TP &) W18 F SAET-SeT 3 H F1 A B wieT qUaR F1 1 A R B F
had U afed B T&T 1 D B THaT B $ St Uga aTdt fa 21 F 3R B & 919 Shaw
s fed 1 udian 1 G $1 ufian A | ugd fbed ve R Afd= ¢ & a1g fvelt vep @1 21
G ® wdien fFafea 82

Ans X 1. 9¥aR
o 2. HTTAaR
X 3.9¥dR
X 4. IPAR

Question ID : 264330121144
Status : Answered
Chosen Option : 2

Q.15 SHUY N, FYF & q1¢ o fspy feu M8 &1 ST # F F1=-914 frepd I 2872
PYT:Z>F2A=B=G>S<E
frep:
L.Z<A
.G<F

Ans X 1. %qd 6y 11 9 B
& 2. 7d Y SRIg I T B
X 3. ey | @R 11 g I E
X 4. Fad fd | T

Question ID : 26433069224
Status : Answered
Chosen Option : 2

Q16 S wmrm s IR | I RT i A T F R T e s &
AT T @ A g § e 9 @ @, a7 # R v aeEe # @ #E W Ow s
FUF FT ANRF T HFEOT FAT ¢/ g

Y
FE Rt & A= W Yo $ e U5 7% ¢ AR S IR 3 e AfEE gedd = E

ST
I. % Tzt dramer Fw F FROT U 9 e FE & w E
Il Fremser S & wror & fagaedt oher & st @

Mk AR NN, gET s e E

X2 Fad || HTHUT T §

v 3 FIS | HTEOT FLT §

x4.HaTI3-ﬁ¢FrE‘ﬂ‘II31§?TUTWHT%

Question ID : 264330128902
Status : Answered
Chosen Option : 4




Q17 g+ BT AT -8, - BT AF x B, x BT T + §, + BT 3 = B, N UY-RE (?) P RA RN
STT?
T7+7x17-49+7=7

Ans X 1.169

X 2.119
& 3.189

X 4.145

Question ID : 26433068118
Status : Answered
Chosen Option : 3

Q.18 ﬁ%ﬁﬁaa@%ﬁﬁﬁmmmﬁwmﬁﬁwm%lmmmw
=T |

A X |
o | (L
i
%
2 X%
L]

Question ID : 264330128897
Status : Answered
Chosen Option : 1




Q.19 wwmmaﬂﬁmmmﬁwgﬂ%ﬁwwmﬁm%mm
Frafalaa ag=g @ Tt smuw # Wit ¢
(Fite: TEmat &Y 3P T il | fyunfora fpe famm, of Temnsit w nitrdta witeang #t
ST TR | IETERUI F 1T 13 - T 13 WR MK Jifsrang SR f& st / gerr/ on
AT 311 BT 13 | a1 o1 FHaT 71 13 B 1 3R 3 H dig1 3R f62 1 3R 3 W vt
TfpaTd B P ergafa T ?)
(8,1, 46)
(9, 4, 22)

Ans X 1.(7,6,13)
X 2.(4,2,5)
% 3.(8,543)

o 4.(7,3,13)

Question ID : 264330126250
Status : Answered
Chosen Option : 4

Q.20 4 firT A, B, C 3R D Tw With a1 & WS 7, gTeiifes gg =i gl fp A s v A gl A
AN BFAA A1 AfK P AN &1 B, CIRDFATATST21 D JaA 3d & T @12
TEd R W S ST 2?2

Ans 7 1. A
X 2cC
X 3.B
X 4D

Question ID : 26433085694
Status : Answered
Chosen Option : 2

Q.21 Fafaf@a & A $19 F GR-TYE B, # 3R % B yfawnia w1 91 aife :: F a1 3R
%ar&n-;agw%ﬁamﬁﬁaﬁvﬁﬁmz&ﬁﬁmﬁ?::%?miahﬁ?ar&mw
P12
El:qKNF 2QCV:%

Ans X 1.#=HPD, % = NFS
o 2.#=MLH, % = OET
X 3.#=HQC, % = NFS
X 4.#=IPD, % = OET

Question ID : 264330121407
Status : Answered
Chosen Option : 2




Q.22 w4 YU B fod & AR ‘PQ’ W 3G 9T § 41 fAT 1T T &1 quor & it 9t ufifda afa s
liiCqEyeUshled L

A % palysnaAzbon
%2 |iiCqeyeUshled
x s [ncdgAenzpleq
v+ bsldaUsy3piil

Question ID : 264330126298
Status : Answered
Chosen Option : 4

Q.23 I Riped 1 997 o, PR Fre amgfy afifea 81 (quf Y safiy 78 )

Ans
(/)
|

] ]

X 2. 1 L]
]
g ]
|

3.

& 4.

Question ID : 264330121394
Status : Answered
Chosen Option : 3




Q.24 TH P HINT H, 'PLUMAGE' 3 "GICOWNR' foraT STaT @ iR "CRUSH' &1 'JUWTE' ferar
?aﬁmﬁ "TRIBAL' ®! 9 ferar siram?

Ans 7 1.NCDKTV
2< 2. NCBKTV
X 3.NCDJTV
< 4.NCBJTV

Question ID : 26433068943
Status : Answered
Chosen Option : 1

Q.25 ﬁquwﬁgﬂﬁwmmwwmﬂm(mm%maﬁwﬁ%
| U HOIT-g F! Blesd? AW Y wer-grt o gar wfban(si) &1 uraH farar siar @1
9% faww wEm.gw g B
Ans X 1.15:34
X 21:6
& 3.18:42

K 4.7:18

Question ID : 264330126256
Status : Answered
Chosen Option : 3

Q.26 frafufEa gt & A 2reg ff =1 freft wopR vas T § ok gaf ve wgg &1 Fmfor
B §1 P11 Teg I TS A WAaifra T8 87 (el B 3RIeh RSl & =7 § AT
ST 91T 3R reg § 31&RT P HEAT/ o] / TR) B TR F SATUR W 3¢ UG 78]
fooar s =nfyw)

Ans X' 1. 9HIIGS
X 2. hdPp
X 3.9
4. [

Question ID : 26433065635
Status : Answered
Chosen Option : 2

Q.27 %mﬁmﬁﬁﬁmgﬁmﬁmmﬁwﬁmﬂaﬁuﬁwﬁaw
I
48,75, 108, 2, 192
Ans 7 1.147
# 2.153

X 3.112
X 4.126

Question ID : 26433074541
Status : Answered
Chosen Option : 1




Q.28 ‘A#B BTAYE'A, BBTHE &I
‘A@B BTAT A, B TR
A&B BTASE'A BIRTUARI
'A% B BTS2 A, B P U &'
AES%D#F@G&H@J T, A F, J I f5a R Hafta 82
Ans X 1. TFEy

2 2. st
X 3.
& 4 B BTG

Question ID : 264330126294
Status : Answered
Chosen Option : 4

Q.29 ts fAf¥a g uTar §, 'MADRAS' H1 112" foran SiraT @ $iR "JAMMU' &Y 82" forar wirar 81
It YT & 'PUNJAB' BT Y fera stmam?

Ans X 1.112
X 2.115

% 3.109
& 4.104

Question ID : 264330126263
Status : Not Answered
Chosen Option : --




Q.30m%ﬁﬁay@%ﬁﬁﬁmﬁmqmﬁwmﬁmwm%lmmmﬂ
EECEC T

L) e ] Q,
EN =3 A ko] FAS

\d
o

[
A

Ans

X
kil

(o)

Question ID : 264330128892
Status : Not Answered
Chosen Option : --

Section : English Language and Comprehension

Q.1 Select the option that expresses the given sentence in passive voice.
The Event Management team organised the wedding.

Ans X 1. The Event Management has organised the wedding.
«” 2. The wedding was organised by the Event Management team.
/< 3. The wedding is organised by the Event Management team.

#5 4. The Event Management team is organising the wedding.

Question ID : 26433059193
Status : Answered
Chosen Option : 2




Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

The science and art of growing vegetables, fruits and flowers
Ans X 1. Herpetology

#5 2. Herbing

o 3. Horticulture

#5 4. Haplology

Question ID : 26433072446
Status : Answered
Chosen Option : 3

Q.3 Select the option that expresses the given sentence in reported speech.
She asked, “Are you meeting my partners next week?”

Ans X 1. She asked if we were meeting her partners next week.
«” 2. She asked if we were meeting her partners the following week.
#5 3. She asked if we meet her partners next week.

< 4. She asked about our meeting her partners next week.

Question ID : 26433059119
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate collocating word to fill in the blank.
Mentally strong people do not to suicide over trivial issues.
Ans 7 1.Givelin
5 2. Conceive on
5 3. Make up
& 4. Fallin

Question ID : 26433058374
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate homonym to fill in the blank.
The farmers grow in their fields.

Ans X 1.mase
o 2. maize
&5 3. maze
& 4. mays

Question ID : 26433058529
Status : Answered
Chosen Option : 3




Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Fort Hare was more than that: it was a beacon for African scholars from all over
Southern Central and Eastern Africa.
B. Until 1960, the University College of Fort Hare, in the municipality of Alice, about
twenty miles due east from Healdtown, was the only residential center of higher
education for blacks in South Africa.
C. For young black South Africans like myself, it was Oxford and Cambridge, Harvard
and Yale, all rolled into one.
D. The regent was anxious for me to attend Fort Hare and | was gratified to be
accepted there. | felt that | was being groomed for success in the world.

Ans X 1.CABD
X 2.BDAC
< 3.BCAD
« 4. BACD

Question ID : 26433060108
Status : Answered
Chosen Option : 3

Q.7 Select the option that expresses the given sentence in indirect speech.

| said to Mohan, “He has a green book.”
Ans X 1.1told Mohan that he has a green book.

#5 2.1 told Mohan that he had had a green book.
#5 3. 1 told Mohan that he have a green book.
«” 4. | told Mohan that he had a green book.

Question ID : 26433084730
Status : Answered
Chosen Option : 4

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A.We reached there at about 10 a.m.
B.The first ride we took was the Fury Wheel. It was really big, all of us were yelling and

crying!

C.Yesterday, my friends and | went on a short picnic to an amusement park.

D.Even though we had reached on time there was a serpentine queue for the tickets. |
took the entrance ticket.

Ans X 1.ABCD
« 2. CADB
< 3.ADBC
X< 4.CDBA

Question ID : 26433058356
Status : Answered
Chosen Option : 2




Q.9 Select the option that expresses the given sentence in direct speech.
| warned Rita not to be late the next day.

Ans X 1. | warning Rita, “Not be late tomorrow”.
5 2.1 warned to Rita, “Don’t be late tomorrow”.
#< 3.l warned Rita, “Not be late tomorrow”.

«” 4.1 warned Rita, “Don’t be late tomorrow”.

Question ID : 26433070764
Status : Answered
Chosen Option : 4

Q.10 Identify the option that arranges the given parts in the correct order to form a
meaningful paragraph.

A. In speed, in comfort, in beauty, in equipment she was a masterpiece.

B. It was the envy and admiration of the maritime nations of the world.

C. The Titanic was the Queen Alary of her day and the pride of the White Star Line.
D. Everything about her was attractive and fascinating.

Ans X 1.CDAB
X 2.DCAB
« 3. CBAD
X 4.ABCD

Question ID : 26433072690
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate synonym of the underlined word.

Bullying is a rather unacknowledged social evil.
Ans X 1.Infamous

25 2. Named
#5 3. Notable
& 4. Unidentified

Question ID : 264330122756
Status : Answered
Chosen Option : 1

Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
The postman / delivers the letters / through hand, / door to door.

Ans X 1. The postman
«” 2. through hand
#5 3. delivers the letters
% 4. door to door

Question ID : 264330123940
Status : Answered
Chosen Option : 3




Q.13

The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
She watched / the thief who / steal the purse / in the bus.

Ans X 1. the thief who

#5 2.in the bus

#5 3. She watched

o 4. steal the purse

Question ID : 264330123922
Status : Answered
Chosen Option : 3

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

the correct order to form a meaningful and coherent paragraph.

P. Perhaps no definition of democracy is more popular and universally acceptable than
what is given by Abraham Lincoln.

Q. He defines democracy as “a government of the people, by the people and for the
people”.

R. Certainly, democracy is the most representative form of government.

S. To bind the people and take the nation ahead on the path of progress, democracy is
the most suitable form of government for India.

Ans X 1.SRQP

« 2. PQRS

& 3.PSRQ

< 4.QRSP

Question ID : 264330121859
Status : Answered
Chosen Option : 2

Q.15 Parts of a sentence/paragraph are given below. While the first and the last parts (A and

Ans

F) are in the correct order, the parts in between are jumbled up. Arrange the parts in
the correct order to form a meaningful and coherent sentence/paragraph.

A.llove

B. so that

C. every morning

D. for a walk

E. to go

F. 1 can keep myself fit and healthy.

X 1.B,C,D,E
X 2.D,E,B,C
« 3.E,D,C,B
X 4.C,B,D,E

Question ID : 26433072504
Status : Answered
Chosen Option : 3




Q.16 Select the option that expresses the given sentence in active voice.
A new book on games will be released by the publishers next week.

Ans X 1. The publishers would release a new book next week.
#5 2. The publishers will be releasing a new book next week.
«” 3. The publishers will release a new book on games next week.

5 4. The publishers will publish a new book on games next week.

Question ID : 26433058363
Status : Answered
Chosen Option : 3

Q.17 Select the INCORRECTLY spelt word.
Ans X 1. Abseil

o 2. Acede
/< 3. Abhorrent
/5 4. Abscess

Question ID : 264330123969
Status : Not Answered
Chosen Option : ==

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

One who is a boot licker and flatterer.
Ans X 1. Gold-digger

5 2. Manipulative
#5 3. Gregarious
«” 4. Sycophant

Question ID : 26433055975
Status : Answered
Chosen Option : 1

Q.19 Select the correct collocation from the options and complete the sentence.

Rahulis ___ Coding.
Ans ¢ 1. experienced in
5 2. strong of
#5 3. experienced of
25 4. skilled on

Question ID : 26433089399
Status : Answered
Chosen Option : 1




Q.20 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Helping parents become savvier at picking care options and tossing retention
bonuses to caregivers are others.
B. These fixes, importantly, can make child care more affordable for parents and offer
life rafts to centres haemorrhaging workers.
C.The most proposed government solution for child care involves building on top of
this flawed system is offering more vouchers to purchase private child care.
D.But they do little to address the structural needs: improved quality for kids, better
wages and working conditions for workers, and more choices in the low-income
neighbourhoods.

Ans X 1.CDBA
« 2. CABD
< 3.BADC
X 4.CBDA

Question ID : 264330122798
Status : Answered
Chosen Option : 1

Q.21 Select the most appropriate meaning of the highlighted idiom
The actress’ daughter is just a chip off the old block

Ans X 1. To chip off the edges
«” 2. Similar to one's parents in behaviour
#5 3. To get into the enemy’s territory
25 4. To console the dreary

Question ID : 264330120746
Status : Answered
Chosen Option : 2

Q.22 Select the most appropriate homonym to fill in the blank.
knowledge in this field is really profound.

Ans X 1.They're
" 2. Their
5 3. There
X 4. Dare

Question ID : 26433058518
Status : Answered
Chosen Option : 3

Q.23 Select the most appropriate ANTONYM for the word 'often’ in the following sentence.
Usually at Christmas, uncle often brings lovely and cherished gifts for us.

Ans X 1.lovely
o 2. seldom

25 3. usually
2 4. cherished

Question ID : 26433058563
Status : Answered
Chosen Option : 3




Q.24 Select the option that will improve the underlined part of the given sentence.

Riya ran as fastly as a cheetah and saved the child from falling.
Ans X 1. fastest
< 2. faster
o 3. fast

X 4. fasting

Question ID : 26433059045
Status : Answered
Chosen Option : 3

Q.25 Choose the correct spelling of the underlined word in the given sentence.
The committee could not reach a conscence even after a six-hour long meeting
yesterday.

Ans X 1. cautius
& 2. conscius
«” 3. consensus

< 4. conscientios

Question ID : 26433059842
Status : Not Answered
Chosen Option : ==

Q.26 Select the most appropriate ANTONYM of the underlined word.

The manager decided to resign from his post as the bank was declared to be
insolvent.

Ans X 1.Bankrupt
#5 2. Independent
£ 3. Commercial
o 4. Affluent

Question ID : 26433070534
Status : Answered
Chosen Option : 4

Q.27 Select the most appropriate option to fill in the blank.

The movie was released expected.
Ans X 1. later then
25 2. most later than
o 3. later than
5 4. more later than

Question ID : 26433061504
Status : Answered
Chosen Option : 1




Q.28 Select the option that expresses the given sentence in active voice.
A new gallery is being built inside the city stadium.

Ans X 1. They have been building a new gallery inside the city stadium.
«” 2. They are building a new gallery inside the city stadium.
#5 3. They will build a new gallery inside the city stadium.
5 4. They were building a new gallery inside the city stadium.

Question ID : 264330123910
Status : Answered
Chosen Option : 2

Q.29 Select the most appropriate meaning of the given idiom.
Achilles’ Heel
Ans & 1. Vulnerable point
#5 2. Fast runner
#5 3. Irrelevant thing
5 4. Costly item

Question ID : 26433072306
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The phrase non-governmental or non-profit is commonly used to refer to the various
organisations that (1) civil society. In general, such organisations are distinguished by
the (2) that they operate for reasons other than financial gain. Surveys indicate that
NGOs have a high degree of public (3) , which can make them a useful proxy for the
concerns of society and stakeholders. NGOs range from small pressure groups on specific
environmental concerns or human rights (4) , to educational charities, women's
refuges, cultural associations, religious organisations, legal foundations, humanitarian
assistance programmes — and the list could go on — to large international organisations with
hundreds or even thousands of branches or members around the world.

SubQuestion No : 30
Q.30 Select the most appropriate option to fill in blank number 1.
Ans X 1. comprising

«” 2. comprise
< 3. comprises
2 4. comprised

Question ID : 264330128960
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The phrase non-governmental or non-profit is commonly used to refer to the various
organisations that (1) civil society. In general, such organisations are distinguished by
the (2) that they operate for reasons other than financial gain. Surveys indicate that
NGOs have a high degree of public (3) , which can make them a useful proxy for the
concerns of society and stakeholders. NGOs range from small pressure groups on specific
environmental concerns or human rights (4) , to educational charities, women's
refuges, cultural associations, religious organisations, legal foundations, humanitarian
assistance programmes — and the list could go on — to large international organisations with
hundreds or even thousands of branches or members around the world.

SubQuestion No : 31
Q.31 Select the most appropriate option to fill in blank number 2.
Ans X 1.lie

X 2. clue
o 3. fact
X 4. value

Question ID : 264330128961
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The phrase non-governmental or non-profit is commonly used to refer to the various
organisations that (1) civil society. In general, such organisations are distinguished by
the (2) that they operate for reasons other than financial gain. Surveys indicate that
NGOs have a high degree of public (3) , which can make them a useful proxy for the
concerns of society and stakeholders. NGOs range from small pressure groups on specific
environmental concerns or human rights (4) , to educational charities, women's
refuges, cultural associations, religious organisations, legal foundations, humanitarian
assistance programmes — and the list could go on — to large international organisations with
hundreds or even thousands of branches or members around the world.

SubQuestion No : 32
Q.32 Select the most appropriate option to fill in blank number 3.
Ans X 1.idea

2 2. thought
X 3. belief
o 4. trust

Question ID : 264330128962
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The phrase non-governmental or non-profit is commonly used to refer to the various
organisations that (1) civil society. In general, such organisations are distinguished by
the (2) that they operate for reasons other than financial gain. Surveys indicate that
NGOs have a high degree of public (3) , which can make them a useful proxy for the
concerns of society and stakeholders. NGOs range from small pressure groups on specific
environmental concerns or human rights (4) , to educational charities, women's
refuges, cultural associations, religious organisations, legal foundations, humanitarian
assistance programmes — and the list could go on — to large international organisations with
hundreds or even thousands of branches or members around the world.

SubQuestion No : 33
Q.33 Select the most appropriate option to fill in blank number 4.
Ans X 1. prohibitions

25 2. discrimination
/< 3. evaluation

o 4. violations

Question ID : 264330128963
Status : Answered
Chosen Option : 3




Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “l don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.
Eventually, he had abused Einstein’s equation of E = mc2 that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 34
Q.34 What is the central theme of the passage?
Ans X 1. Einstein and his life

o 2. Atomic war and its consequences
/< 3. Einstein and his love for music

X 4. Science and its bad side

Question ID : 264330128927
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “l don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.
Eventually, he had abused Einstein’s equation of E = mc2 that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 35
Q.35 Select the most appropriate ANTONYM of ‘set’ from the passage.
Ans X 1. Level

o 2. Rise
< 3. Stand
X 4. Getup

Question ID : 264330128928
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “l don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.
Eventually, he had abused Einstein’s equation of E = mc2 that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 36
Q.36 Select an appropriate title for the passage.
Ans ¢ 1. War and Destruction

X 2. Einstein and his Violin
25 3. Atom Bombs
X 4. Death in Hiroshima

Question ID : 264330128925
Status : Answered
Chosen Option : 1




Comprehension:
Read the given passage and answer the questions that follow.

The sage of science, Einstein, was sitting in a depressive and pensive mood one evening. His
eyes were brimming with tears. The pain was evident on his face. He peeped out of the
window of his room. The sun had set a few minutes back. The sky was filled with a reddish
glow. At this sunset, he felt that it was humanity that had sunk into devilish darkness and the
reddish glow in the sky was the blood of humanity spilling all over the sky from earth. With
tired steps, he walked back to his chair and settled down. It was the 9th of August 1945.
Three days back, he had felt the same agony as if someone had torn him apart. He was
deeply hurt and depressed when he heard on the radio that America had dropped an atom
bomb on the Japanese city, Hiroshima. Today, within three days another bomb was dropped
on another city, Nagasaki and lakhs of people had been killed.

He had heard that the blast released so much energy that it had paled all past destructions in
comparison and death had played out a pitiable dance of destruction. The flames that broke
out of the bomb were burning, melting, and exploding buildings. Scared of the heat of the
bomb, people had jumped into lakes and rivers, but the water was boiling and the people too
were burnt and killed. The animals in the water were already boiled to death. Animals, trees,
herbs, fragrant flowering plants were all turned into ashes. The atomic energy destruction had
just not stopped there. It had entered the atmosphere there and had spread radiation that
would affect people for generations to come and would also bring about destructive
irreversible biological change in animals and plants.

As the news of the atomic attack reached Einstein, and he became aware of the glaring
horror of the abuse of atomic energy, his distress and restlessness knew no bounds. He could
not control himself and picked up his violin to turn his mind on to other things. While playing
the violin, he tried to dissolve his distress in its sad notes, but couldn’t. He was burning on the
embers of destruction; his heart was filled with an ocean of agony and tears just continued
streaming uncontrollably out of his eyes. Night had fallen. His daughter came up and asked
him to eat something as he had not taken anything for the last four days. His voice was
restrained and he said, “l don’t feel like eating.”

He could not sleep that night. Lying down, he was thinking how he had drawn the attention of
the then American President Roosevelt towards the destructive powers of an atomic bomb.
He had thought that this would be used to scare Hitler and put an end to the barbarism that
Hitler was up to. However, Roosevelt kept him in the dark and made false promises.
Eventually, he had abused Einstein’s equation of E = mc2 that resulted in the destructive
experiments. His actions had made science and scientists as murderers. Einstein kept on
thinking for a long time. Eventually, he slipped into sleep. When he woke up at dawn, there
was a new dawn in him too. The atomic threat had transformed his heart.

SubQuestion No : 37
Q.37 Why did Einstein refuse to eat?
Ans X 1. As he felt happy

o 2. As he felt guilty
25 3. As he felt worried
X 4. As he felt sick

Question ID : 264330128926
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage and answer the questions given after it.

Wetlands are amongst the most productive ecosystems on the Earth and provide many
important services to human society. They exhibit enormous diversity according to their
genesis, geographical location, water regime and chemistry, dominant species, and soil and
sediment characteristics. Globally, the areal extent of wetland ecosystems ranges from 917
million hectares (m ha) to more than 1275 m ha. One of the first widely used wetland
classifications systems, devised by Cowardin et al., 1979, categorized wetlands into marine
(coastal wetlands), estuarine (including deltas, tidal marshes, and mangrove swamps),
lacustrine (lakes), riverine (along rivers and streams), and palustrine ( marshes, swamps and
bogs) based on their hydrological, ecological and geological characteristics.

Ramsar Convention on Wetlands was an international treaty signed in 1971. Overall, 1052
sites in Europe; 289 sites in Asia; 359 sites in Africa; 175 sites in South America; 211 sites in
North America; and 79 sites in Oceania region have been identified as Ramsar sites or
wetlands of International importance.

As per the Ramsar Convention definition most of the natural water bodies (such as rivers,
lakes, coastal lagoons, mangroves, peat land, coral reefs) and man- made wetlands (such as
ponds, farm ponds, irrigated fields, sacred groves, salt pans, reservoirs, gravel pits, sewage
farms and canals) in India constitute the wetland ecosystem distributed in different
geographical regions ranging from Himalayas to Deccan plateau. As of February, 2022, India
has 49 Ramsar sites covering an area of 10,93,636 hectares, the highest in South Asia.

As per the estimates, India has about 757.06 thousand wetlands with a total wetland area of
15.3 m ha, accounting for nearly 4.7% of the total geographical area of the country . Out of
this, areas under inland wetlands accounts for 69%, coastal wetlands 27%, and other
wetlands (smaller than 2.25 ha) 4%.

Guijarat has the highest proportion (17.5%) and Mizoram has the lowest proportion (0.66%) of
the area under wetlands. Among Union Territories, Lakshadweep has the highest proportion
(around 96%) and Chandigarh has the least proportion (3%) of geographical area under
wetlands.

SubQuestion No : 38
Q.38 Under which category of wetlands, are delta and mangrove swamps included?
Ans X 1. palustrine

o 2. estuarine
X 3. marine

X 4. lacustrine

Question ID : 264330128831
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions given after it.

Wetlands are amongst the most productive ecosystems on the Earth and provide many
important services to human society. They exhibit enormous diversity according to their
genesis, geographical location, water regime and chemistry, dominant species, and soil and
sediment characteristics. Globally, the areal extent of wetland ecosystems ranges from 917
million hectares (m ha) to more than 1275 m ha. One of the first widely used wetland
classifications systems, devised by Cowardin et al., 1979, categorized wetlands into marine
(coastal wetlands), estuarine (including deltas, tidal marshes, and mangrove swamps),
lacustrine (lakes), riverine (along rivers and streams), and palustrine ( marshes, swamps and
bogs) based on their hydrological, ecological and geological characteristics.

Ramsar Convention on Wetlands was an international treaty signed in 1971. Overall, 1052
sites in Europe; 289 sites in Asia; 359 sites in Africa; 175 sites in South America; 211 sites in
North America; and 79 sites in Oceania region have been identified as Ramsar sites or
wetlands of International importance.

As per the Ramsar Convention definition most of the natural water bodies (such as rivers,
lakes, coastal lagoons, mangroves, peat land, coral reefs) and man- made wetlands (such as
ponds, farm ponds, irrigated fields, sacred groves, salt pans, reservoirs, gravel pits, sewage
farms and canals) in India constitute the wetland ecosystem distributed in different
geographical regions ranging from Himalayas to Deccan plateau. As of February, 2022, India
has 49 Ramsar sites covering an area of 10,93,636 hectares, the highest in South Asia.

As per the estimates, India has about 757.06 thousand wetlands with a total wetland area of
15.3 m ha, accounting for nearly 4.7% of the total geographical area of the country . Out of
this, areas under inland wetlands accounts for 69%, coastal wetlands 27%, and other
wetlands (smaller than 2.25 ha) 4%.

Guijarat has the highest proportion (17.5%) and Mizoram has the lowest proportion (0.66%) of
the area under wetlands. Among Union Territories, Lakshadweep has the highest proportion
(around 96%) and Chandigarh has the least proportion (3%) of geographical area under
wetlands.

SubQuestion No : 39

Q.39 Match the continents with the number of Ramsar sites.
continents no. of Ramsar sites
a. North America 1. 1052 sites
b. Europe 2. 211sites
c. Africa 3. 289 sites
d. Asia 4. 359 sites

Ans o 1.a-2,b-1,c4,d-3
X 2.a-3,b-4,c1,d-2
X 3.a-2,b-3, c-4,d-1
XK 4.a-4,b-1,¢c2,d-3

Question ID : 264330128832
Status : Answered
Chosen Option : 1




Comprehension:

Read the following passage and answer the questions given after it.

Wetlands are amongst the most productive ecosystems on the Earth and provide many
important services to human society. They exhibit enormous diversity according to their
genesis, geographical location, water regime and chemistry, dominant species, and soil and
sediment characteristics. Globally, the areal extent of wetland ecosystems ranges from 917
million hectares (m ha) to more than 1275 m ha. One of the first widely used wetland
classifications systems, devised by Cowardin et al., 1979, categorized wetlands into marine
(coastal wetlands), estuarine (including deltas, tidal marshes, and mangrove swamps),
lacustrine (lakes), riverine (along rivers and streams), and palustrine ( marshes, swamps and
bogs) based on their hydrological, ecological and geological characteristics.

Ramsar Convention on Wetlands was an international treaty signed in 1971. Overall, 1052
sites in Europe; 289 sites in Asia; 359 sites in Africa; 175 sites in South America; 211 sites in
North America; and 79 sites in Oceania region have been identified as Ramsar sites or
wetlands of International importance.

As per the Ramsar Convention definition most of the natural water bodies (such as rivers,
lakes, coastal lagoons, mangroves, peat land, coral reefs) and man- made wetlands (such as
ponds, farm ponds, irrigated fields, sacred groves, salt pans, reservoirs, gravel pits, sewage
farms and canals) in India constitute the wetland ecosystem distributed in different
geographical regions ranging from Himalayas to Deccan plateau. As of February, 2022, India
has 49 Ramsar sites covering an area of 10,93,636 hectares, the highest in South Asia.

As per the estimates, India has about 757.06 thousand wetlands with a total wetland area of
15.3 m ha, accounting for nearly 4.7% of the total geographical area of the country . Out of
this, areas under inland wetlands accounts for 69%, coastal wetlands 27%, and other
wetlands (smaller than 2.25 ha) 4%.

Guijarat has the highest proportion (17.5%) and Mizoram has the lowest proportion (0.66%) of
the area under wetlands. Among Union Territories, Lakshadweep has the highest proportion
(around 96%) and Chandigarh has the least proportion (3%) of geographical area under
wetlands.

SubQuestion No : 40

Q.40 Which of the following questions cannot be answered after reading the above
passage?

Ans X 1. How many Ramsar sites are there in the world?
X 2. What is the classification of wetlands?
o 3. Why are wetlands important for human societies?

< 4. How much area is covered by wetlands In India?

Question ID : 264330128830
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions given after it.

Wetlands are amongst the most productive ecosystems on the Earth and provide many
important services to human society. They exhibit enormous diversity according to their
genesis, geographical location, water regime and chemistry, dominant species, and soil and
sediment characteristics. Globally, the areal extent of wetland ecosystems ranges from 917
million hectares (m ha) to more than 1275 m ha. One of the first widely used wetland
classifications systems, devised by Cowardin et al., 1979, categorized wetlands into marine
(coastal wetlands), estuarine (including deltas, tidal marshes, and mangrove swamps),
lacustrine (lakes), riverine (along rivers and streams), and palustrine ( marshes, swamps and
bogs) based on their hydrological, ecological and geological characteristics.

Ramsar Convention on Wetlands was an international treaty signed in 1971. Overall, 1052
sites in Europe; 289 sites in Asia; 359 sites in Africa; 175 sites in South America; 211 sites in
North America; and 79 sites in Oceania region have been identified as Ramsar sites or
wetlands of International importance.

As per the Ramsar Convention definition most of the natural water bodies (such as rivers,
lakes, coastal lagoons, mangroves, peat land, coral reefs) and man- made wetlands (such as
ponds, farm ponds, irrigated fields, sacred groves, salt pans, reservoirs, gravel pits, sewage
farms and canals) in India constitute the wetland ecosystem distributed in different
geographical regions ranging from Himalayas to Deccan plateau. As of February, 2022, India
has 49 Ramsar sites covering an area of 10,93,636 hectares, the highest in South Asia.

As per the estimates, India has about 757.06 thousand wetlands with a total wetland area of
15.3 m ha, accounting for nearly 4.7% of the total geographical area of the country . Out of
this, areas under inland wetlands accounts for 69%, coastal wetlands 27%, and other
wetlands (smaller than 2.25 ha) 4%.

Guijarat has the highest proportion (17.5%) and Mizoram has the lowest proportion (0.66%) of
the area under wetlands. Among Union Territories, Lakshadweep has the highest proportion
(around 96%) and Chandigarh has the least proportion (3%) of geographical area under
wetlands.

SubQuestion No : 41
Q.41 In India, what kind of wetlands occupy the largest area?

Ans X 1. mangrove swamps
X 2. coastal wetlands
X 3. small wetlands

o” 4. inland wetlands

Question ID : 264330128833
Status : Answered
Chosen Option : 4




Comprehension:

Read the following passage and answer the questions given after it.

The Indian Space Research Organisation (ISRO) announced another successful mission.
ISRO chairman S. Somanath said that three small satellites successfully separated and were
injected into orbit.

ISRO had launched three small satellites powered by its SSLV-D2 launch vehicle from Satish
Dhawan Space Centre at Sriharikota on February 10, 2023 at 09:18 AM IST. The launch
vehicle was carrying EOS-07, Janus-1 & AzaadiSAT-2 satellites and aimed to inject them into
a 450 km circular orbit. The launch took place at the first launch pad at SDSC SHAR,
Sriharikota.

The SSLV-D2 had to take a 15 minutes flight to inject EOS-07, Janus-1 and AzaadiSAT-2
satellites into 450 km circular lower orbit. “It is configured with three solid propulsion stages
and a velocity terminal module. It is a 34 m tall, 2 m diameter vehicle having a lift-off mass of
120 t,” said ISRO. The EOS-07 satellite weighs 156.3 kg and is made by ISRO.

About 13 minutes into its flight, the SSLV rocket ejected EOS-07 and soon after that the other
two satellites Janus-1 and AzaadiSAT-2 were ejected — all at an altitude of 450 km, said
ISRO.

With the new rocket in its portfolio, ISRO will have three rockets — Polar Satellite Launch
Vehicle (PSLV) and its variants (cost about Rs 200 crore), Geosynchronous Satellite Launch
Vehicle (GSLV-MkII cost about Rs 272 crore and LVM3 Rs 434 crore) and SSLV
(Development cost of three rockets about Rs 56 crore each) and production cost may go
down later.

“New experiments include mm-Wave Humidity Sounder and Spectrum Monitoring Payload.
Janus-1, a 10.2 kg satellite belongs to ANTARIS, USA. A 8.7 kg satellite AzaadiSAT-2 is a
combined effort of about 750 girl students across India guided by Space Kidz India, Chennai,”
it added.

SSLV caters to the launch of up to 500 kg satellites to Low Earth Orbits on ‘launch-on-
demand’ basis. “It provides low-cost access to Space, offers low turn-around time and
flexibility in accommodating multiple satellites, and demands minimal launch infrastructure,”
as per a statement by ISRO

SubQuestion No : 42
Q.42 After reading the passage it can be inferred that it is
Ans X 1.agovernment release

/X 2. a magazine article
< 3. an editorial

o 4.anews item

Question ID : 264330128790
Status : Marked For Review
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions given after it.

The Indian Space Research Organisation (ISRO) announced another successful mission.
ISRO chairman S. Somanath said that three small satellites successfully separated and were
injected into orbit.

ISRO had launched three small satellites powered by its SSLV-D2 launch vehicle from Satish
Dhawan Space Centre at Sriharikota on February 10, 2023 at 09:18 AM IST. The launch
vehicle was carrying EOS-07, Janus-1 & AzaadiSAT-2 satellites and aimed to inject them into
a 450 km circular orbit. The launch took place at the first launch pad at SDSC SHAR,
Sriharikota.

The SSLV-D2 had to take a 15 minutes flight to inject EOS-07, Janus-1 and AzaadiSAT-2
satellites into 450 km circular lower orbit. “It is configured with three solid propulsion stages
and a velocity terminal module. It is a 34 m tall, 2 m diameter vehicle having a lift-off mass of
120 t,” said ISRO. The EOS-07 satellite weighs 156.3 kg and is made by ISRO.

About 13 minutes into its flight, the SSLV rocket ejected EOS-07 and soon after that the other
two satellites Janus-1 and AzaadiSAT-2 were ejected — all at an altitude of 450 km, said
ISRO.

With the new rocket in its portfolio, ISRO will have three rockets — Polar Satellite Launch
Vehicle (PSLV) and its variants (cost about Rs 200 crore), Geosynchronous Satellite Launch
Vehicle (GSLV-MkII cost about Rs 272 crore and LVM3 Rs 434 crore) and SSLV
(Development cost of three rockets about Rs 56 crore each) and production cost may go
down later.

“New experiments include mm-Wave Humidity Sounder and Spectrum Monitoring Payload.
Janus-1, a 10.2 kg satellite belongs to ANTARIS, USA. A 8.7 kg satellite AzaadiSAT-2 is a
combined effort of about 750 girl students across India guided by Space Kidz India, Chennai,”
it added.

SSLV caters to the launch of up to 500 kg satellites to Low Earth Orbits on ‘launch-on-
demand’ basis. “It provides low-cost access to Space, offers low turn-around time and
flexibility in accommodating multiple satellites, and demands minimal launch infrastructure,”
as per a statement by ISRO

SubQuestion No : 43
Q.43 Which satellite was injected into the orbit first?
Ans 7 1. EOS-07

X 2. Antaris
& 3. AzaadiSAT-2
X 4. Janus 1

Question ID : 264330128792
Status : Answered
Chosen Option : 1




Comprehension:

Read the following passage and answer the questions given after it.

The Indian Space Research Organisation (ISRO) announced another successful mission.
ISRO chairman S. Somanath said that three small satellites successfully separated and were
injected into orbit.

ISRO had launched three small satellites powered by its SSLV-D2 launch vehicle from Satish
Dhawan Space Centre at Sriharikota on February 10, 2023 at 09:18 AM IST. The launch
vehicle was carrying EOS-07, Janus-1 & AzaadiSAT-2 satellites and aimed to inject them into
a 450 km circular orbit. The launch took place at the first launch pad at SDSC SHAR,
Sriharikota.

The SSLV-D2 had to take a 15 minutes flight to inject EOS-07, Janus-1 and AzaadiSAT-2
satellites into 450 km circular lower orbit. “It is configured with three solid propulsion stages
and a velocity terminal module. It is a 34 m tall, 2 m diameter vehicle having a lift-off mass of
120 t,” said ISRO. The EOS-07 satellite weighs 156.3 kg and is made by ISRO.

About 13 minutes into its flight, the SSLV rocket ejected EOS-07 and soon after that the other
two satellites Janus-1 and AzaadiSAT-2 were ejected — all at an altitude of 450 km, said
ISRO.

With the new rocket in its portfolio, ISRO will have three rockets — Polar Satellite Launch
Vehicle (PSLV) and its variants (cost about Rs 200 crore), Geosynchronous Satellite Launch
Vehicle (GSLV-MkII cost about Rs 272 crore and LVM3 Rs 434 crore) and SSLV
(Development cost of three rockets about Rs 56 crore each) and production cost may go
down later.

“New experiments include mm-Wave Humidity Sounder and Spectrum Monitoring Payload.
Janus-1, a 10.2 kg satellite belongs to ANTARIS, USA. A 8.7 kg satellite AzaadiSAT-2 is a
combined effort of about 750 girl students across India guided by Space Kidz India, Chennai,”
it added.

SSLV caters to the launch of up to 500 kg satellites to Low Earth Orbits on ‘launch-on-
demand’ basis. “It provides low-cost access to Space, offers low turn-around time and
flexibility in accommodating multiple satellites, and demands minimal launch infrastructure,”
as per a statement by ISRO

SubQuestion No : 44

Q.44 Match the satellites with their weight.
Satellites Weight
a. E0S-07 1. 10.2 kg
b. AzaadiSAT-2 2. 156.3
c.Janus 1 3. 8.7 kg

Ans X 1.a-2, b-1,c-3
X 2.a-3,b-1,c-2
X 3.a-1,b-3,c2
o 4.2a-2,b-3, c-1

Question ID : 264330128793
Status : Answered
Chosen Option : 4




Comprehension:

Read the following passage and answer the questions given after it.

The Indian Space Research Organisation (ISRO) announced another successful mission.
ISRO chairman S. Somanath said that three small satellites successfully separated and were
injected into orbit.

ISRO had launched three small satellites powered by its SSLV-D2 launch vehicle from Satish
Dhawan Space Centre at Sriharikota on February 10, 2023 at 09:18 AM IST. The launch
vehicle was carrying EOS-07, Janus-1 & AzaadiSAT-2 satellites and aimed to inject them into
a 450 km circular orbit. The launch took place at the first launch pad at SDSC SHAR,
Sriharikota.

The SSLV-D2 had to take a 15 minutes flight to inject EOS-07, Janus-1 and AzaadiSAT-2
satellites into 450 km circular lower orbit. “It is configured with three solid propulsion stages
and a velocity terminal module. It is a 34 m tall, 2 m diameter vehicle having a lift-off mass of
120 t,” said ISRO. The EOS-07 satellite weighs 156.3 kg and is made by ISRO.

About 13 minutes into its flight, the SSLV rocket ejected EOS-07 and soon after that the other
two satellites Janus-1 and AzaadiSAT-2 were ejected — all at an altitude of 450 km, said
ISRO.

With the new rocket in its portfolio, ISRO will have three rockets — Polar Satellite Launch
Vehicle (PSLV) and its variants (cost about Rs 200 crore), Geosynchronous Satellite Launch
Vehicle (GSLV-MkII cost about Rs 272 crore and LVM3 Rs 434 crore) and SSLV
(Development cost of three rockets about Rs 56 crore each) and production cost may go
down later.

“New experiments include mm-Wave Humidity Sounder and Spectrum Monitoring Payload.
Janus-1, a 10.2 kg satellite belongs to ANTARIS, USA. A 8.7 kg satellite AzaadiSAT-2 is a
combined effort of about 750 girl students across India guided by Space Kidz India, Chennai,”
it added.

SSLV caters to the launch of up to 500 kg satellites to Low Earth Orbits on ‘launch-on-
demand’ basis. “It provides low-cost access to Space, offers low turn-around time and
flexibility in accommodating multiple satellites, and demands minimal launch infrastructure,”
as per a statement by ISRO

SubQuestion No : 45
Q.45 What is the passage mainly about?
Ans X 1.development of SSLV rocket by ISRO

«” 2. launch of three small satellites in orbit by ISRO
< 3. new experiments on satellites by ISRO

/X 4. efforts to cut costs of satellites by ISRO

Question ID : 264330128791
Status : Answered
Chosen Option : 3

Section : General Awareness

Q1 YR T o1 g 148 P U Wad PrATd BT IUSY P12
Ans X 1.9 & TEIfIGar

¥ 2. YRd & Heragarel

X 3. YRd & Ul

o 4. YR & AS-TRIOREIURIES

Question ID : 264330113408
Status : Answered
Chosen Option : 1




Q.2 3FTE 2021 ¥, 4H Td IASNIR HATOT A ST 4SBT (UWs) BT IE1T S99 11 &
forw o di= fpani

Ans X 1. eGyan (3-3M)
% 2. eRozgaar (3-JW1R)
X 3. eUmang (3-3H7)
o 4. eShram ('st-%ﬂ:f)

Question ID : 264330123896
Status : Answered
Chosen Option : 4

Q.3 YR H, B 3R I5T WHR) B G4t wiftedl 3Nk oag Ft Judan s o) et
fPrafifeq & @ fraa e 22

Ans X 1. HEIfgad (Advocate General)
5 2. T T TaT TN (Union Public Service Commission)
X 3. YRd & HeTAAaIg! (Attorney General for India)
4. 8% U9 ARTaaTIRIE® (Comptroller and Auditor- General)

Question ID : 264330110129
Status : Answered
Chosen Option : 4

Q.4 Tra 3t yai myfd JAfa w3 ¥ srarse fAash & orefiv frw siftrert & fore
HTYTRGT BT IR FATE W IS UT?

Ans X 1,339 WRaMl
X 2. T9R
X 3. ggaime
4. TEHI-T-HST

Question ID : 264330109012

Not Attempted and
Marked For Review

Chosen Option : ==

Status :




Q.5

st @ e #L
persling e
(A) HSHTIHR-FAT Yo TETETA TEATT () drepraT
(ICAR-Central Institute for Arid Horticulture)
(B) ITSHTH-Fea T FIH HeJHUT HEUTT (Il) TR
(ICAR-Central Institute of Cotton Research)
(C) HEMTHRASET ATl HeJTalled HEATH () e

(ICAR-National Rice Research Institute)
(D) FSHETHR-ANAT SETETA HFTHU FEAT (IV) e
(ICAR-Indian Institute of Horticultural Research)

Ans X 1. A-lV, B-lll, C-I, D-lI

502, AL, B-lI, C-IV, D-lII

«” 3. A-l, B-ll, C-lll, D-IV

& 4. A-lV, B-lIl, C-ll, D-I

Question ID : 264330121515
Status : Answered
Chosen Option : 3

Q.6 Y ara F ey A FrufifEd sy Re e §

Ans

A. 3f¥® aru= AT fafafia, gy ©u | shard $89 & S & SR gd-3neifie
F1d A W T gl FY g BT JIBIIS a9 8, S 9l & argHed H SHT-Sa=iyur
P I THETEH A & Wk $I qgrar gl

B. Af¥® a1 Siaaryg uRad &1 $RUT 941 8, S AP q1¢ 3R TRH WHH & =q F
72t W SHa & g 1R TRt SO A 31
T q B & HUT aE 872

X 1.A 3R B S T &

XK 2. Fad A

X 3.%aaB

4. AR BT

Question ID : 264330121159
Status : Answered
Chosen Option : 4

Q7

Ans

I TG B UgTH PG R 317 a1 wrenl Bt IR Tva Wy T Ed R, 51
Tyl & ARTIE: [aTd Bel oTdl @ 3R 3 N g7 U A 9y g1 g1

X 1. ReSwEer
X 2. fomrad
X 3. I
& 4. dAmTEeT

Question ID : 26433055772
Status : Answered
Chosen Option : 4




Q.8 Iad &R fauar @+ &. Wit & g § smfka ewatst gr1 fea oHw aa &1
Tt = & Wit am fear mar @2

Ans X 1.Td 97
 2.TA 106
< 3.9 90
X 4.99103

Question ID : 264330123826
Status : Answered
Chosen Option : 2

Q9 I TFUMAYRA S MR el &t ugar 78 1 ot 21
Ans 1. ST

X 2. aiftie

X 3. srgyfad

X 4. SO

Question ID : 264330109503
Status : Answered
Chosen Option : 2

Q.10 FTEGIo 3iTad AR F b 3 weget & qui & A @ 32
Ans X 1.9Hg 2 3R I 4

X 2. 9g 1 AR TgE 3

3. 9 1 3R Ugg 17

X 4. 9g 2 3R TG 17

Question ID : 26433086702
Status : Answered
Chosen Option : 3

Q.1 YRd #, farar 3R e rerdar ifear 2016 F SR, Huf~ral i farar wume a5t
ufehar fan fo=t & gff ®et gft?

Ans 7 1. 180
< 2120
< 3..170
< 4,150

Question ID : 26433059320
Status : Not Answered
Chosen Option : --




Q.12 fFEfifEa & ¥ S TR FU I3 31872
(A) COP28 B! T8 faeell, HIRd H SMAIerd B &7 yaTd 2
(B) UETT YT MY TAAR] URac TRIe 1995 H rarford fasar i umi
(C) UGl Ty WY Tearg URad- ae 9, i | Smafra fasar mar ami

Ans X 1.%dd A
X 2.A3RB
o 3. HIAB
X 4.B3RC

Question ID : 264330121480
Status : Answered
Chosen Option : 1

P et e )

£ AT SelsT & ITAR FEeT
(A) SO (1) Frz-Zemw

(B) IrH (I) 3nfRaT-=hTas

(C) JuT (1) STEoT-31Tg

(D) *rE (IV) S3a-3m1e

Ans X 1.A-IV, B-lll, C-l, D-lI
< 2. A-ll, B-lll, C-IV, DAl
o 3. A-l, B-IV, C-llI, D-lI
< 4. AV, B-I, C-lIl, DI

Question ID : 264330121529
Status : Answered
Chosen Option : 3

Q.14 1935 ¥ ffefEd & & feam qara &1 I 3R ITP Usi= o7 B e i A2
Ans X 1. @AW 3R (MOP lyengar)

2. TG 3. 04 (FE Fritsch)
X 3. o fAM3RT (Carolus Linnaeus)
X 4. faferm 8= (William Henry)

Question ID : 264330123824

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.15 fafafEa o | fFaa sadt 2022 # 949Y PR T8-2@ (ed-tech) THIUE USH H1
& forg NEAT 3.0 @1 foram?

Ans X 1. 3AACS! SR FIA GRS Haerd
X 2. g T 3R SifErepTiRar Harag
X 3. faf¥ 3R = darer
o 4. T Hzmera

Question ID : 26433082822
Status : Not Answered
Chosen Option : --

Q.16 THEHH @Rl & I ¥ Frafif@d & @ S1H-91 vy= T 22

Ans X 1. 9901 fRd g W AH a¥g UHTH @RUT UT R bl g
X 2. B & I THIHM ROT BT ISR & |
X 3. FRR 91 | Ty ag THHHH @R BT ISR B |
4. 95 ¥ J fIRA et a¥g THTHH &Rl BT IeTex0 g |

Question ID : 26433054900
Status : Answered
Chosen Option : 4

Q.17 frgffEa # A $19 1915 F ARQAA & IR YRS T FO7 & e A2
Ans o 1. TGy R

X 2. yUg I I

X 3. 3ifSHT IR AgHER

X 4. U Hig Arad™

Question ID : 264330123887
Status : Not Answered
Chosen Option : ==

Q.18 MNAyRTSTau e s peehi Fiafadifear_ &dfid
Ans X 1. 99PN & F daad T

X 2. fdggad 9id & dead

X 3. faggd & dead

4. IIBIT &3 P dead

Question ID : 264330123852
Status : Answered
Chosen Option : 4




Q.19 WA § urd &1 arell T faiy Icaeif ST e1H- 2, St fet o) avg &
B & YT e & "1 A ufRiy uerd ) gerdl 82

Ans X 1. WS HIRST
X 2. R DI
o 3. |H SIS
X 4. T HIRABT

Question ID : 264330123822
Status : Answered
Chosen Option : 1

Q20 iy Qe 2022 # wew AfeE ¥ way & G- AR Tl 1 e S

-l (E=) Il (T5F)

agfRygs &7 i) waYw 955 (T, =, FIET i)

b) HERTSE ii) I BT A wEITUH FEUT TEH

c) ghmom iii) wE arfoeer 7 FET T (FUT TEH FT HEAT F IAR)
d) F=EE iv) TE% dTfoeeT H ST FA (FUT TEH H FET & ITER)

Ans X 1. a-i, b-ii, c-iv, d-iii
X 2. a-, b-ii, c-iii, d-iv
X 3. a-ii, b-i, c-iv, d-iii
o 4. a-ii, b-i, c-iii, d-iv

Question ID : 264330122947
Status : Answered
Chosen Option : 2

Q.21 :%1%%1 TEpR A (=) s, 2022 & ey # Fufafaa & @ -9 sy
?
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L ESICE|
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Question ID : 264330122934
Status : Not Answered
Chosen Option : ==




Q.22 YR I & 3rgede 32 9 226 F dgd frat YHR Ft fie IR Ft 51 Tt 32
Ans X' 1.9Id

& 2.0

X 3.9R

X 4.3

Question ID : 264330110791
Status : Answered
Chosen Option : 2

Q.23 faeel 3R ueT & St geA arelt T, 3w WeTerad yaHl &1 ATH Ta15tl
Ans X 1. %Td SOTE!

2.9

X 3. 3mHast

X 4. Bl arclt S8R

Question ID : 264330123841
Status : Answered
Chosen Option : 2

Q.24 geafer, st & sifom Wi wwe gegy o1 dATUfa uT, 3 e B g7 3 & ok TE Y
ISR B RITYT 3| FFaferfad & & SHe1 a9 Si9-a1 U1?

Ans 1. 9T
X 2. grdqargd
X 3.%Ug
X 43

Question ID : 264330123891
Status : Answered
Chosen Option : 3

Q.25 YR fYed §& A P TTEIUHHI-TATB TS (NBFC-MFI) & T U aamus
frame <= U= faear AT
Ans X 1.5fqdaR 2012
o 2.2 fedsr 2011
X 3.10 fg¥sR 2015

X 4. 8fadsR 2013

Question ID : 264330123880
Status : Not Answered
Chosen Option : --

Section : Computer Knowledge Module




Q1 vATH-E 365 SHFET F T B F U AT # ¥ FW FEE aitee 1 3w B S §?
Ans 1 Alt + F4

X 2. Shift + F5

X3 Alt + F3

X4 Ctrl + F3

Question ID : 264330128753
Status : Answered
Chosen Option : 1

Q2 ffRT § § FiF & Toree W5y 9% & g sifaw &der & @ar 2
Ane X 1. A vgw eEeT (MAR)

v 2 sTEF aEeT (IR)

X 3. FTAHA I0TF (PC)

X 4. FANT FET TAEeX (MBR)

Question ID : 264330128759
Status : Answered
Chosen Option : 1

Q.3 trTE-TEAE 2010 % MATCH () e & fawr & =fafas sus w e i

P: 7E 39 #r v T # T fafese smmen & @iwar £, ik A I3 7 39 amses Fr amer Rfy
TEI AT B

Q: MATCH W & areFaia=are MATCH(lookup_value, lookup_array, [match_type]) &1
R: MATCH() e & Tef 379d#E (arguments) T 3aeaendr grer &l
TfafEa F @ #iF e Fu wew 387

Ans X1 P, Q, R &Y
v2 Faa P 3k Q
X3 Faer P #R R
X4 Faer Q

Question ID : 264330128691
Status : Answered
Chosen Option : 2




Q.4 T Aeafeher BamE § S F% FUEU A1 AN G0N B A % GRS A Lt dl
fiheeT e 21

Ans x 1. ﬁ_w
X2 faaTw
v 3 fBg=
X4 T

Question ID : 264330128707
Status : Answered
Chosen Option : 2

Q.5  wATE-TeEE 2010 # ofwET § T 78, i TR (blank workbook) FR & forw mfafem F &
form alicee Fofr (key) @1 3T Rrar Smar 82

AT X 1 Ctrl+W
V2 Ctri+N
X3 Alt+Shift+N
X 4 Alt+Shift+W

Question ID : 264330128689
Status : Answered
Chosen Option : 2

Q6 Which among the following is incorrect about cache memory?
Ans X 1.
It acts as a high speed buffer between CPU and main memory.
« 2. It is slower than the main memory.

# 3. It stores data in temporary use.

X 4.
It keeps the programs that can be run in a short amount of time.

Question ID : 264330128701
Status : Answered
Chosen Option : 2

Q7 FrafRE # ¥ Fi9-ar 92 vAvE-as 2010 F RBwice 79 ¥ % =¥ T a1 (Quick Access
Toolbar) & e geT 87

A" X1 37g (Undo), 1 (Redo), & (Name)
v 2 Hd (Save), 3=g (Undo), {13 (Redo),
X 3. 9FE (Paste), I35 (Redo), HT (Copy)
X 4. 372 (Undo), IZ (Redo), & (Cut)

Question ID : 264330128695
Status : Answered
Chosen Option : 4




Q.8 S (Gmail) &, F9 AT FE AT ToT S § HW W AT F FOw F 3R Fa9 JF I9F F AT
SIS WEd £, @ AT farmeRr IwweT W 27

v R (Reply)
X 2. iearg 3T (Reply All)
X 3. wias (Forward)
X 4 eag (Reply) 3T ®itag (Forward) St

Question ID : 264330128696
Status : Answered
Chosen Option : 1

Q9 Fr=fafdm & ¥ frw Flawes e #1 3w Ries wruserT Tee & fre fFar o awar 37
Ans "1'ﬁﬁaﬁ-+E

X2 fEET H o+ W

X3 fEe Fr + R

74 e & o+ X

Question ID : 264330128690
Status : Not Answered
Chosen Option : --

Q.10 TR TeH F UF TG F T T B FAT § S owE ga TN AP & mend @
TreaaY T F BT g gl

A X1 B (Mail)
X 2. gera® (Database)
v 3. TTcereheld (Application)
X 4 TISel TAWT Wietnier (FTP)

Question ID : 264330128697
Status : Answered
Chosen Option : 2

Q11 A can either be malware or hardware. The main purpose of this malware is to record the keys pressed by a user
on the keyboard.

Ans 1. Roolkit
X 2. Trojan

« 3. Keyloggers
X 4 Worm

Question ID : 264330128748
Status : Answered
Chosen Option : 3




Q12 s 9 v gX F U AET & v e @ fiew & e W ¥ w9 & gufie w3 w
o 7 & 3T F R g W wAiE = F fw

i X ofeede G Tw
X2 Froer
X3 FATAT
v 4 diiEe

Question ID : 264330128706
Status : Not Answered
Chosen Option : --

Q13 Grafafea & @ w7 o7 detaie TR @idve wiaT § & Seaie 9T 9er & HEE-ee SU fRar
Smar ¥ 3 sw amddr ¥ & B wftw hor ST aifiee

Ans X 1. PPP

X 2. SMTP

X3 HTTP

v 4 TCP

Question ID : 264330128758
Status : Answered
Chosen Option : 4

Q.14

Which of the following is not a magnetic disk?
Ans 1. DVD

X 2. Zip disk

X 3. Disk pack

X 4. Winchester disk

Question ID : 264330128705
Status : Not Answered
Chosen Option : --

O CemfafET F ¥ B vty 35T & w9 F off Fer e 27
Ans ‘/1‘:?'.313‘_:[
X2 T ELEL

X 3. TH.UHEE
x4 BEEe

Question ID : 264330128702
Status : Answered
Chosen Option : 1




Q16 Tt # & Fi9 @ 5t uiche Windows 10 g7 & wafeid a8g & fow siwdt giomr §7
Ans 1. Ctrl + Enter

« 2.Alt + Enter

< 3. Alt+ Shift + Spacebar

X 4.Ctrl + Shift + Spacebar

Question ID : 264330128703
Status : Not Answered

Chosen Option : --
Q.17 U WETE SOE A HE ¥ S T A R F @ §9T & e g, o O osw
WA & T R G F T I FIA
Ans ¢1ﬁ.q.l.u;r

X 2 TEE
X3 TEdET
X 4 ErST

Question ID : 264330128754
Status : Answered
Chosen Option : 4

A1 Srafef@a & & #ia @ deor IR/ gfAe (CPU) & o & o 12
Ans 1.
FemitF Fiftew gae (ALU) 579 o, 58 Foa # 9aas AT 3T & Taee F 0T 58 TR St
F fore SR b
x 2.
LI YiAe FAOE A H HAad HR FaRd FT L

x 3.
S g T AT ST s 2 TamE S e e G T Swes £y SRt e

fersarfea Bear =mar B

x 4.
FReAfes e e (ALU) 3 F7gel & a0 #feass s a1 Sar 1

Question ID : 264330128700
Status : Answered
Chosen Option : 1




Q19 WWhich among the following statements is incorrect?

Ans 1.
Iiwnloading is a procedure of copying files from the webserver to the machine.
2
Memory is required in the webserver to downloading anything.
X 3.
Uploading is a procedure for copying data from the device to the webserver.
X 4.
Data travels from user’s device to the web server while uploading.

Question ID : 264330128692
Status : Answered
Chosen Option : 2

Q20 = o 3 s S SR e # e @ WFe B FF 9T B
An o1 RfreTEeR

v 2. Hifcesa HiFel T (OCR)

X 3. ATATeah 5% Fs T=T (MICR)

X4 &F AT

Question ID : 264330128764
Status : Answered
Chosen Option : 2






